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Eioaywyiké onueiwpa

To mapov SL6aKTIKO UALKO TipoTeivetal yia Tn didackalia tng ayyAlkng y\woooag oto ENA.A.,
TIPOKELUEVOU VA TIPOOPEPEL OTOUC LABONTEC KOl TLG LABNTPLEC EVKALPLEG VA AELOTIOL)COUV TLG
AN UTIAPXOUCEC YAWOOIKEG ETILKOVWVLAKES TOUG LKAVOTNTES KOL VAL EUTTAQKOUV EVEPYA OE Spa-
OTNPLOTNTEC TTOU £XOUV WC ATMWTEPO CTOXO TNV MEPALTEPW YAWOOLKI), KOWWVIKA Kol Puxoou-
voloBnpatikni Toug avamtuén. ElGkotepa, OTOXEVEL 0TNV AVATTTUEN YAWOOIKWY Se€LOTTWVY o€
ETUKOLWVWVLOKEC TIEPLOTACELC TTIOU adpOPOUV TOV EMAYYEAUATIKO TOUEA TNG ETULAOYNC TOUC.

To UAIKO elval XwWPLOUEVO OE BEUATIKEG EVOTNTEC, OXETIKEG UE Tov TopEa MAnpodopikng. Kabe
evotnta mepAaUBAvVeEL SpaoTNPLOTNTEG KATOVONONE KoL TTapaywyNn ¢ ipodopLkol Kal yparmtou
Aoyou otnv £Evn YAWGooQ, OL OTIOLEC OTOXEVOUV OTNV KAAALEPYELD TWV YAWOOLKWY ETILKOLVWVL-
akwv SEELOTATWV TOUG PHEOA Ao aUOEVTIKA KELEVA KOl UBEVTIKEG ETILKOLVWVLOKEG TTEPLOTA-
oelg. OL paBntec kat ol padntpleg kahouvtal va StaBdacouyv, va ypaouyv, va UVOILAGOLVY, va
KOTAVO GOUV, VA TIpaTNPo0ULY, VO avalntrioouy, Vo apouUCLACOUV KaL VO EMEEEPYOOTOUV
TANPOodOopPLeEC KPLTLKA KAl SNULOUPYLKA, OTOUIKA KL OMASIKA.

MéEoa amo BLWUATIKEG KAl OLOS0-OUVEPYATIKEG SPACTNPLOTNTEC, Ol LABNTEC Kol LaBnTPLEC
QVOUEVETAL VO KATOKTHOOUV TIPOOSEUTLKA TO AEELAOYLO KaL TNV OpOAOYyLa TOU EMOYYEALOTIKOU
TOMEQ TIOU €X0OUV ETUAELEL, Kol KUPLWG VO KOTAOTOUV LKOVOL/-£G VoL KATAVOOUV KELPEVO aANA Kall
V0L TTAPAYOUV YpartTo Kot podoplkd AOY0 O€ OXE0N LLE TO AVTLKELUEVO TNC ELOIKOTNTAG TOUC.

H xprion auBevtikwv Kelpévwy amotelel avapdiBoia tdlaitepa anoteAeopatikn péBodo otn
Stbaokahia tne EEvne yAwooag, kat olaitepa otn StdaokaAia tng yia e18ikoug okomoug (ESP). Ta
€V AOYyWw Kelpeva BEV EXOUV O€ YEVIKEC YPAUUES UTTOOTEL EMeEepyaaia yLo TNV TPOCAPHUOYT TOUG
OE OUYKEKPLUEVQ eTtimeSa YAwOOOUAOELOC, OTOLKELO TTOU aMOTEAEL TO BOOLKO TOUC TAEOVEKTN L
KolOw¢ evioyUEeL To BaBud TG MPOKANOoNG aAAA KL T KIVNTPO TWV HaBNnTwy Kol LadntpLwv yla
TNV KATavonon Touc. EmutAéov, mapouotdlouv EMIKOWVWVLIOKEG TIEPLOTACELG OTLG OTIOLEC TPOKELTAL
va eKTEB0UV HEANOVTIKA OL LABNTEG KAl OL LB TPLEG TIPOKELUEVOU Va avalntrioouV MAnpodopieg
OXETIKEG LLE TOV EMAYYEALOTIKO TOUC TOUEQL.

IKOMOC TNC XPONG TOUC OTNV TALN EMOUEVWC SEV ELVOLL ) TTPOCAPHOYI) TWV KELLEVWV OTO EMINESO
TWV padntwv kat padntpwv. Avtibeta, kKAeldl tng emefepyaciag Toug amoteAeL n mpooapoyn
TWV SpaoTNPLOTATWV TTOU T CUVOSEVOUV AVAAOYA LIE TIC LKAVOTNTEG KaL Ta evoladEpovta Twv
HoONTWV Kal padntplwyv. EVEELKTIKA TPOTELVETAL, TTPLV OTTO TNV AVAYVWAOT TOU KELUEVOU, N Xprion
KOTAAANAQ SLapopdwHEVWY EPWTACEWY, N Ttapouaiaan Tou As€iloyiou ou Ba xpelaoTouv yla
TNV KATAVONGCT TOU 1 KL GUATNON OXETIKA LLE TO B TOU KELLEVOU OTN UNTPLKH TOUG YAwooo
(pre-reading tasks) k.ATt., £T0L WOTE VOl TIPOETOLUAGTOUV OL HOONTEC KL oL HoBNTPLeC KaTAAANAa
KoL va LELwBEL 0 BaBpog SuokoAiag Tou KELWEVOU.



0O/n eKMALSEVTIKOC UIMOPEL VOl A€LOTIOLNOEL ETTLONG TEXVIKEC avAyvwonc Kot Slaxeiplong ayvw-
otou/véou Ae€lloylou yLa TNV avATTUEN OXETIKWY LETAYVWOTIKWY OTPATNYLIKWY Kol SEELOTHTWV.
Ie kaBe neplntwon, Ba mpémnel va Toviletal 6TouG HaBNTES Kol TLG LaBATPLEC OTL TO {NTOUEVO
dev elval va katavorioouv KaBe AEEn Tou KelPEVou aAAA va avartuéouv Th de€LotnTa Ko TNV
automnenoifnon mou anattovvtal, WOoTe va Xelpilovtal KE(peVA He AyvwoTteg AEEELG Ko val
avtanokpivovtal He emituyiot 0€ LEAAOVTIKEG TPOAYLOTIKEG ETLKOWVWVLAKEG CUVONKEG. AUTO
ETUTUYXAVETOL AMTOTEAECHATLKA LECA ATTO SPACTNPLOTNTEC EVTIOTILOLOU TNG YEVLKAC LOEAG N OU-
YKEKPLUEVWV TIANPODOPLWV O€ EVAL KELLEVO (LY. XWPWV, AVTIKELLEVWY, KATNYOPLWV), LECA QL0
TEXVLKEC “skimming” kal “scanning”, péoa amo Tn Xprion TEXVIKWY OVAKAAUTITIKAC LABnaong
Kol oTpatnykwy onwe SQ3R (Survey, Question, Read, Recite, Review), KWL (What do | know,
What do | want to know, What have | learned) ; dAAa €ién ypadikwv opyavwtwv (mind-maps,
spidergrams etc).

Ze auTo To mAaiolo, oL ekmatdeuTIKOL £xouv Tt Suvatotnta va oxedldoouy tn StdaokaAia Toug
HE BAON TG AVAYKEC KoL TOL eVOLAdEPOVTA TWV HOONTWV Kot HoBnTpLwV Touc. ZUpdwva Pe Ta
TIOPOTIAVW, TIPOTELVETAL OL EKTTALdEUTIKOL VaL:

= GUUTANPWGOOUV I KOlL VO TIPOCAPLOCOUV TO TAPOV SLOAKTLKO UALKO CUUPWVA LLE TIC AVAYKEG
™G TafNnG TOUG,

= TIOPACYOUV OTOUG HaBNTEG KaL TIG LABNTPLEC EVKALPLEG EVEPYOU LABNONG EUTAEKOVTAC TOUG
o€ SLadLkaoleg avaoToXaopoU, Slepelvnonc, mPoBANUATIOUOU, KPLTIKAG okEYNC, ouvBeonc,
aMnAenidpaong, aflohdynong, AnPng anodoaong K.Am.,

= OTOXEUOUV OTOV EUMAOUTIONO TWV TPOCWTILKWVY EUTIELPLWY TWV HaBnTwv Kal pobntplwy,
ouVOEoVTaG TN OXOALKN TAEN UE TOV KOOUO TOU UEAAOVTLKOU TOUC ETTOYYEALATOG.






1. Do you know the answers to the following questions? Work in
groups and try to answer as many as you can (you may use
Greek language too). Then, read the text and come back to
check or complement your answers.

What does network equipment include?
1 Name specific devices.

What is the difference between wired and wireless
networks?

Why are profocols regarded to be fundamental
mechanisms for network communications?
What do they do?




What are the main kinds of area networks?

What is a network hub used for?

> What are its drawbacks?

. What is a network swifch used for? What is its
advantage in comparison with a network hub?

8.

9.

10.

11.
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2. Read the following text to get the information you need for the previous activity and
then do the tasks below.

a TECH TIMES

(( ISSUE VOLUME YEAR )

W,

the best in current research Q
u

Network Devices and Equipment

Network equipment is used to combine, split,

switch, boost or direct packets of information

along a computer or telecommunications

network. This product area includes hubs,

switches, routers, bridges, gateways, multiplexers,

transceivers and firewalls. In addition to device

type, network equipment is defined by protocol

(e.g. Ethernet) and port or interface type.

Networking equipment interconnects devices
so that data can be shared between them. The
layout or topology of these connected devices
describes the network’'s design or structure.
Common topologies for computer networks
include bus, ring, star, tree and mesh.

In wireless networks, devices communicate
via radio waves and do not require physical
connections whereas in wired networks, cables
are used. These cables are equipped with
connectors for a specific port or interface type.

Computer networks handle data according to
protocols that are fundamental mechanisms
for network communications. Network
protocols specify the software attributes of
data communications, including the structure
of packets and the information contained
therein. Depending upon the type of network,

packets may be called blocks, cells, frames or
segments. Network protocols may also prescribe
some or all of the operational characteristics
of the network hardware on which they run.

Network equipment may be designed for local
area networks (LAN), metropolitan area networks
(MAN) or wide area networks (WAN).

If we take a look at the different devices, they
workatdifferentlayers ofthe computer networks.
These different layers are like different zones
of a computer network with specified works,
also called ‘network protocols’. For example, a
LAN cable has got the purpose of connecting
a computer to the local area network whereas
a Wi-Fi router has got the purpose of sending
and receiving data between you and your
internet connection.

Types of Network Equipment

Network Hub

This is a networking device used to connect
multiple network hosts as well as to do data
transfer. The data is transferred in terms of
packets on a computer network. So when a
host sends a data packet to a network hub, the
hub copies the data packet to all of its ports



connected to. However, because of its working
mechanism, a hub is not so secure and safe.
Moreover, copying the data packets on all
the interfaces or ports makes it slower and
more congested, a fact which led to the use of
network switch.

Network Switch

Like a hub, a switch also works at the layer
of LAN (Local Area Network). While hub just
does the work of data forwarding, a switch
does ‘filter and forwarding” which is a more
intelligent way of dealing with the data
packets. So, when a packet is received at one
of the interfaces of the switch, it filters the
packet and sends it only to the interface of the
intended receiver. For this purpose, a switch
also maintains a CAM (Content Addressable
Memory) table and has its own system
configuration and memory.

\/

Modem

A modem, which stands for Medulator +
Demodulator, is a hardware device that allows
a computer to send and receive data over a
telephonelineoracable or satellite connection.
In the case of transmission over an analog
telephone line, which was once the most
popular way to access the internet, the modem
converts data between analog and digital
formats in real time for two-way network
communication. In the case of the high-speed
digital modems popular today, the signal is
much simpler and doesn't require the analog-
to-digital conversion.

Router

Arouter, whichisaprotocol-dependent device,
is a physical layer networking device that joins
multiple networks together. Typically routers
are designed to make decisions about which
path or interface to use for network traffic.
Generally they perform very little filtering or
policing, instead they are optimized for speed.

Bridge

They should be used to interconnect local or
remote networks in order to centralise network
administration. A bridge connects two
subnetworks as a part of the same network.
You can think of two different labs or two
different floors connected by a bridge.

Repeater

Arepeater is an electronic device that amplifies
the signal it receives. When it receives a signal,
it retransmits it at a higher level or higher
power so that it can cover longer distances.
Repeaters use regeneration and retiming
to ensure then that signals are transmitted
clearly through all network segments. l

http://www.globalspec.com/learnmore/networking_communication_equipment/networking_equipment/networking_equipment

http://fossbytes.com/networking-devices-and-hardware-types/
4 o 4 o &
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3. True or False?

Which of the following sentences is true (7) or false (F)
according to the text?

True False

Blocks, cells, frames or segments are all packets of information or
data.

‘Network protocols” are layers of a computer network with specified
purpose.

A hub just connects network hosts without being able to transfer
data.

A switch maintains a Content Addressable Memory table and has
its own system configuration and memory in order to be able to
send packets to the intended receiver only.

Transmission over an analog telephone line is nowadays the most
popular way to access the internet.

4. Read the text carefully and then choose the correct answers.

1. What is the aim of the text?
a. To list different products for purchase.
b. To compare the function of different equipment.
c. To provide knowledge about network devices and equipment,

2. According to the article, why are network devices necessary?
a. They facilitate the sharing of information and data.
b. They distribute the layout of various interconnected devices.
c. They forward information to a wide area network.

3. Why is the network hub not preferable?
a. Because it provides access to few computer networks.
b. Because it transfers data to all active ports without filtering.
C. Because it works at the layer of LAN (Local Area Network).




®
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5. Match the words (1-10) with the definitions (A-)).

‘ . 1. Ethernet 6. _____ configuration
S

' pair work ' 2. protocol 7. cable
_____ hub 8. _____ router

4, _____ switch 9. _____ optimise

5 _____ interface 10. _____ gateway

A |Hardware device designed to receive, analyse and move incoming packets to
another network.

B |A device or programme that enables a user to interact with a computer.

C |Wire(s) inside a protective covering used for fransmitting electricity or
telecommunication signals.

D [To achieve maximum efficiency /| make the most effective use of a situation or
resource.

E |The point of access to computers outside your network.

F [Technology for connecting wired local area networks (LANs) enabling devices to
communicate with each other via a protocol.

G |A set of technical rules governing the exchange or fransmission of data befween
devices.

H |A basic networking device that connects multiple computers or other network
devices together.

| |A hardware device that connects computers in a network, filtering and forwarding
data packets.

J |The arrangement of functional units, i.e. the internal and external components,
that make up a computer system.

@ ¢ @ 9

X
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6. Choose the answer (a, b, or ¢) you find most appropriate.

¢ protocol ¢+ interface ¢ attribute ¢ [AN
+ transceiver ¢ analog * repeater * networking
T Auser ______ is a point of interaction between a computer and humans.
2 AN _______ has networking equipment in close proximity to each other, capable

of communicating, sharing resources and information.
3 tfransmission is a transmission method of conveying information using a

continuous signal of varying frequency as opposed to digital transmission.
4 Each has its own rules that dictate how data is formatted, fransmitted

and received.
5 is an electronic device that receives a signal and retransmits it; it extends

tfransmissions so that the signal can cover longer distances or be received on the
other side of an obstruction.

7. Complete each blank in the following pairs of sentences with the correct word.

1. | device / equipment

a. The newly-designed
exhibition.

b. Thieves broke into the offices last night and stole €15,000's worth of computer

will be displayed on this year's annual fechnology

2. | router / hub

a A _______. which connects multiple computers or other network devices
together, has no routing tables or intelligence so as to be able to traffic
information.

b. Within a LAN environment the _______ provides local address resolution
services and may segment the network using a subnetwork structure.

3. | configuration / interface
Q. refers to what kind of hardware is connected, and how those

connections are set up.

b. In computing, an) _______ is a shared boundary across which two or more
separate components of a computer system exchange information.




M Word formation. Look at the following table showing how we form nouns from
verbs adding a suffix.

forming
nouns$ verb + suffix = noun
from verbs

Vocabulary

building

-tion communicate | = | communication
-sion admit | = | admission
equip | = | equipment
“ment develop | => | development
-ence prefer | = | preference
Adding affixes -ance maintain | => | maintenance
to existing words -ant assist | => | assistant
2 %ewwaywésdl;orm -ent depend | => | dependent
Suffixes usually age pack | => | package
change the class waste | = | wastage
of the word. drive | => | driver
-er
compute | => | computer
-ery [ -ory rob | => | robbery
-y bake | = | bakery
-al arrive | => | arrival

8. Complete the sentences using the correct noun from the verbs in parentheses.

1 This _______ (route) has been specially designed to improve its overheating
_______ (resist).

2 The networking equipment needs further _______ (improve) before launched in
the market.

3 (convert) is a term used to describe the ability of _______ (transfer) of a

file or a segment of data from one format to another format.
4 Staying at a suspicious website in unsafe mode may lead to the loss of personal

data and computer _______ (break).

S5 A _______ (use) may setup a _______ (serve) to control access to a network,
send/receive e-mail, manage _______ (print) jobs, or host a website.

6 Whatisthe _______ (differ) between a _______ (direch and a _______ (fold)?

7 A criminal _______ (hack) is any individual who illegally breaks into computer
systems to damage or steal _______ (inform).

8 A _______ (direct), which is found in a hierarchical file system, is a _______

(locate) for storing files on your computer.




| Network Devices and Equipment

\’ (1

Modal Verbs

9. The following sentences appear in the text about network devices and equipment.
Underline the modal verbs and match them with their functions below.

a. When it receives a signal, it retransmits it at a higher level or higher power so that it
can cover longer distances.

b. Depending upon the type of network, packets may be called blocks, cells, frames or
segments,

c. They should be used to interconnect local or remote networks in order to centralise
network administration.

1 obligation 2 ability 3 possibility | 4 permission | 5 advice

Modal Verbs

Modal verbs do not have all tense forms.

They are followed by bare infinitive
(infinitive without to)

They do not take -s / -ing / -ed suffixes

They form the interrogative and negative
form without an auxiliary verb.

v 9 9 9 v




M In the following table you can see the meanings and different uses of modal
verbs.

Modal verbs

can [ be able to

Use

ABILITY
ability in the present [ future

could ability in the past
was able to ability on a specific occasion
POSSIBILITY / PERMISSION
can / may possibility in the present | future
could / might possibility on a specific occasion

should / ought + present infinitive

should / ought + perfect infinitive

PROBABILITY
probability in the present / future
something was expected to happen
but it did not happen

should / ought to

ADVICE
general / strong advice

must
mustn't
have to [ had to
should / ought to

OBLIGATION / DUTY / NECESSITY
duty / strong obligation
prohibition
strong necessity | obligation
duty / weak obligation

dont have to /| dont need to / needn't

didnt have to [/ didnt need to
neednt + have + past participle

ABSENCE OF NECESSITY
it is not necessary in the present [ future
it was not necessary
it was not necessary but it was done

must + present | perfect infinitive
cant / couldn't
may / might / could

DEDUCTION / LOGICAL ASSUMPTION
Almost certain that it is / was frue
almost certain that it is /| was impossible
possible that it is / was true
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10. Complete the sentences in the following router user guide choosing the correct item
and providing justifications for your answers.

1 When using this guide, please notice that features of the router may / must vary
slightly depending on the model.

2 This guide aims at allowing you to use your router so that all of your connected
devices will be able to / should take advantage of the service.

3 The product should not / may not be located where it will be exposed to mois-
ture or excessive heat.

4 Place the router in a location where it can / might be connected to devices as
well as to a power source.

5 In a domestic environment, this product needn’t / may cause radio interference,
in which case the user is required to take adequate measures.

6 You must have / should follow the instructions on the page to continue the
configuration.

7 If the router works, you must / may have followed the right instructions.
8 You don’t need to / mustn‘t run the setup CD included with the router.

- —
 —
|
 —
C—




11. Complete the sentences in the following guide with the correct modal verb in the right
form.

‘ How to Build and Maintain the Best Home Network

With just a little time and effort, anyone
(1) __ set up a basic home computer

1.8
o @ 1] 0 network. Simple home networks, though,
L (2)_______ provide only a small fraction of the
L4
zax &
I & | g ’ -

capability that an advanced network does. In
order to get the most out of your home network
you (3)_______ invest in better hardware and
additional software. With the movement tfo
cloud computing continuing, families (4)_______
use reliable, fast access to all of their online

accounts and data. Most Internet providers

nowadays (5)_______ offer a range of service
plans at different prices. Subscribing to your
providersbasicplans(6)_______ save afew euros
each month but you (7)_______ also consider

tfime and convenience. Even small increases in
shave valuable minutes off of long download. You (9)

data rates (8)

upgrade your Internet service plan to the best available and (10)_______ change
providers if necessary. Note that the best home Internet service (11)_______ not be
provided by the one with the largest Mbps rating. If you still have problems with
accessing all points at home, you (12)_______ followed the above instructions. You

a computer expert to follow these rules.
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12. Match the verbs in bold to their meanings.

1. | You didn’t need to buy a new router since a | You are not
______ you didn't wish to upgrade your home network. allowed to..
2. | We had to unplug our router b | It's against
______ due to overheating. the rules...
3. | You can get the router IP address c | We were
______ from the manufacturer's documentation. obliged to..
4. | You might as well buy a modem d |Isit OK if..
______ if you have an up-to-date router.
5. | You mustn‘t reset your router, e | It wasn't
______ if there are no problems. necessary...
6. | You can’t use your neighbour's IP address. f | It's possible...
7. | Could | please use your laptop? g | Perhaps

______ you can...




¢ You are going to hear a talk by a Tech enthusiast about technology
innovations and the impact on our lives. Then do the following tasks.

|deas worth spreading

Kevin Kelly | EG 2007
The next 5,000 days of the web

http://www.ted.com/talks/kevin_kelly_on_the_next_5_000_days_of the_web

13. Choose the most appropriate title for the talk.

a. What is technology about?
b. Predicting the future of the World Wide Web.
c. The impact of technology on our lives,

14. Listen again and complete the missing words in the following sentences.

1 |If | told you it was all _______, you would say, this is simply — youre dreaming.

2 | One of the things that we're learning from this era, from this last decade, is that
we have to get good at believing in the _______.

3 | There's almost no other machine that we've ever made that of hours,

the number of days.

v v &9 L 4 <
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4 | But to afirst _______,
kind of- to your brain.

the size of this machine is the size —and its complexity,

5 | Thirdly, we're going to become completely _______ upon it.

6 | The cloudbook doesn't have any storage. It's . It's always connected.

7 | All the cameras, and the microphones, and the
is connected to this machine.

in cars and everything

8 | Every item, every artifact that we make, will have _______ in it some little sliver
of Webness and connection.

15. Work in groups to answer the following questions:

®
| o o M oo
a. Name some things mentioned in the talk that were thought
impossible 10 years ago. What other things we have today

group o work
were thought impossible? m

b. Kevin Kelly asks: "How can we predict what's coming in the next 5,000 days?"
What do you think is coming?

Ideas worth spreading

Kevin Kelly | EG 2007
The next 5,000 days of the web
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O
A @ 16. Brainstorm reasons why you should upgrade your home

o
rou work
m computer network and decide which devices and equipment

to use. Write them down in the following table.

Reasons Devices

17. What are the similarities and differences among
routers, switches and hubs? Work in groups to
prepare a presentation about the key characteristics of each of the devices.
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18. Your school’s principal has asked you to improve the school’s
computer network. Discuss the importance of the following or other W
needs and decide on the priority of works to be undertaken.

class

discussion

4 . ) 4 .

hardware required \ / wireless access
1o build a network | \ points
[ SETTING UP A NETWORK ]

] ) 4 )
wired Ethernet how to troubleshoot
L networks \_connection problems

y y
use a bridge
to expand your LAN

19. a. How do network devices and equipment contribute to interaction and
communication?

b. How does a computer network facilitate the operation of a school / office [ business?

w,

r‘




20. Write instructions, in steps, about how to improve and upgrade the reliability of a home
computer network. The instructions will be uploaded in the Tech-how-to website (100-
140 words). There are some points below to help you:

Tech How-To Guides & Tutorials

Use broadband routers

Add Wireless Capability to Home Networks
Improve the Performance of a Home Network
Expand the Size of a Home Network

Add More Features to a Home Network
Increase Home Network Security

Add any other features you consider necessary

AN N N NN
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sl v How many operating systems do you know?

'—? (B ] Printer

" " ! v/ Which are the most common operating systems
l

nowadays?

Hard Drive “a
Operatmg
System
Mouse

1. Read the text and, in pairs, fill in the blanks choosing the correct
words from the list below. Some words are written in bold to help
you choose.

' pair work '

¢ haraware ¢ input ¢ data ¢ guest & processes

¢ operating ¢ friendly ¢ users & consoles
¢ intermediary ¢ phones ¢ networked




Information
Technology Sector

An operating system (OS) is system software
that manages computer hardware and software
resources, providing common services for
computer programmes.

For hardware functions suchas (1) ___________
and output and memory allocation, the
operating system acts as an (2) ________
between programmes and the computer
(3) ___________.Theapplication code, however,
is usually executed directly by the hardware
and makes system calls to an OS function or is
interrupted by it. Operating systems are found
on many devices that contain a computer
- from cellular (4) and video

game (5 to web servers and
supercomputers.

The objectives of an Operating System are
to provide:

1. Convenience: an OS makesa computer more
suitable to use, so it becomes user (6]

2. Efficiency:an OS allows the computer system
resources to be used in a well-organized
manner.

3. Ability to evolve: an OS should be
constructed in a way that permits effective
development, testing and introduction of new
functions.

Types of operating systems
Single- and multi-tasking

A single-tasking system can only run one

programme at a time, while a multi-tasking
system allows more than one programmes to be

Operating
Systems

Objectives

running at the same time. This is achieved by
time-sharing, where the available processor

time is divided between multiple (7]
Single- and multi-user

Single-user operating systems have no
facilities to distinguish (8) ___________, but may

allow multiple programmes to run alongside. A
multi-user operating system extends the basic
concept of multi-tasking with facilities that
identify processes and resources, such as disk
space, permits multiple users to interact with
the system at the same time.

Distributed

Adistributed operating system manages a group
of distinct computers and makes them appear
to be a single computer. The development of
(9) ___________ computers that could be
linked and communicate with each other
gave rise to distributed computing. Distributed
computations are carried out on more than one
machine. When computers in a group work in
cooperation, they form a distributed system.
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Templated

In a distributed and cloud computing context,
templating refers to creating a single virtual
machine image as a (10) ____
operating system, then saving it as a tool
for multiple running virtual machines. The
technique is used both in virtualization and
cloud computing management, and is common
in large server warehouses.

Embedded

Embedded operating systems are designed to
be used in embedded computer systems. They
are designed to operate on small machines
like PDAs with less autonomy. They are able
to operate with a limited number of resources.
They are very compact and extremely efficient
by design.

Real-time

A real-time operating system is a time bound
system which has well-defined fixed-time

constraints. It serves real-time applications that

process (11) ___________ data as it comes
in, typically without buffer delays. A real-time
operating system may be single- or multi-
tasking.

Library

In a library (12) ___________ system, services
such as networking are provided in the form
of libraries. They are composed with the
application and configuration code to construct
a uni-kernel: a specialised, single address space
(SAS), machine image that can be used in cloud
or embedded environments. l

http://enwikipedia.org/wiki/Operating_system



2. True or False? M g

Are the following sentences frue (T) or false (F) according to the text?

True Fal se

An operating system is system software for personal computers only.

Multi-tasking operation is achieved by time-sharing.

With single-user operating systems you cannot have multiple
programmes runnning in parallel.

If you want a number of computers to work in a network you need
to have a distributed operating system.

Embedded operating systems are compact and efficient but they
operate with a limited number of resources.
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3. Read the text carefully and then choose the correct answers.

1. What does an operating system do?

2. What kind of devices does an operating system need to work?

3. How is multi-tasking operation achieved?

4. What is the difference between multi-tasking and multi-user operating systems?

5. What does a distributed operating system do?

6. What does “templating” mean?

7. What are the characteristics of embedded operating systems?

8. What is the basic characteristic of real-time operating systems?

9. What is a library operating system?

10. What is a uni-kernel?




[
4. Make alist with the kinds, functions and objectives of operating ~ @ . &~ @

work
systems using information from the text or from the internet. m

Then, in groups, make a poster or use @
diagram like the one on the left to present
the various operating systems in class.

Kinds Functions Objectives
g g -
n g s
g : -
1 : -
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5. Do you know the meaning of the following words?
In pairs, match the words (1-10) with the definitions (A-J).

. / . 1. system resource 6. retrieve

.

' pair work ' 2. _____ booting 7. _____ cloud computing
3. _____ interface 8. _____ vulnerability
4, _____ device driver 9. _____ attack vector
5 _____ directory 0. _____ source code

A | a location/folder for storing files on a computer

B | security weakness in a software programme putting the programme or computer
at risk of malicious attacks

C | get stored information from a computer

D | starting up a computer

E | the code used by the programmer to create a software programme

F | tfechnigue or means for gaining access to a network server or a computer

G | a programme that enables one or more devices to communicate with the
computer’s operating system

H | any device/ component connected to a computer system

I | using a network of remote servers to store, manage and process data

J | a connection between two or more components of a computer system exchange
software, hardware, devices, humans).




6. Complete the sentences with the correct word from the following word list. There is one
extra option you do not need.

+ storage devices ¢ boot sector ¢ malware ¢ vulnerability
¢ interface ¢ source code ¢ corrupting ¢ device drivers ¢ directories

A new type of computer
3D graphic environments.

is to enable blind people to feel and hear

A is a physical section on a hard drive that includes information about

how to start the boot process in order to load an operating system.

_________ scanning tools are computer programmes used to gather information
that may be used by an attacker to gainillegal or unauthorized access to a network.

In a GUI such as Microsoft Windows, are referred to as folders, there-
fore being synonymous.

Without the computer would not be able to send and receive data

correctly to hardware devices, such as a printer.

A boot sector exists on an internal hard drive where an operating system s
installed, as well on like an external hard drive, floppy disk, or other
USB device.

[ —

The 5 most common _________ types are viruses, worms, Trojan Horses, spyware,
and ransomware.

Viruses are designed to damage their target computer by data,

reformatting your hard disk, or completely shutting down your system
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7. Complete each blank in the following pairs of sentences with the correct word.

— = y 1. | security / vulnerability
\!ULNERABII ITV€CANN|N(,
/ K a. An Internet browser could have a _______

that crashes the browser or allows someone
to read or copy files on your computer when
you visit a web page with malicious code.

________ which does not always guarantee
that data cannot be compromised, is a system
that protects data from unauthorized access
and corruption.

2. | encryption / encoding

qa. transforms  sensitive  data
(such as emails, files, folders and entire drives)
into another format to make it more secure
and less likely to be intercepted by those
unauthorized to view it. It is for maintaining
data confidentiality and requires the use of a
key kept secret) in order to return to plaintext.

b. transforms data into another
format using a scheme that is publicly available
so that it can easily be reversed. It does
not require a key. It is for maintaining data
usability and integrity and can be reversed by

employing the same algorithm used.

= 3. | proprietary / open source
N A %g{uﬁuﬂmg% “FREE..- a AN _______ programme can be freely modified
oh Al Eé by anyone, allowing users or organizations to
SR uaicmnEVElépmg%ﬁ°‘ adjust the programme’s functionality to their
ESOFTWARE = "“E20t= needs
9: b. Commercial _______ software is targeted to

narrower market of end users and ifs source
code is usually a closely guarded secret,




Comparisons

8. Study the words in bold below. What is the function of each language form?

a. Convenience: an OS makes a computer more suitable to use, so it becomes user

friendly.

b. Windows is one of the easiest desktop operating systems to use.
C. o as the operating system with the largest user base, .. it is the primary target for

malicious coders.

9. Study the following tables about the formation of comparative and superlative and fill
in the blanks.

Comparison of Adjectives - Adverbs

Comparative Superlative
Positive -er than the -est in/of
more ... than the most ... in/of
fast fast__ the fastest
We use comparative form long longer ___long___
to compare one person /
thing with another. nice nicer the nicest
safe safer the safest
thin thin__ the thinnest
fat fatter the fattest
We use superlative form
to compare one person early earlier ___earl___
/ thing with others in the happy happier the happiest
same group.
realistic _____ realistic the most realistic

comfortable

more comfortable

____ comfortable
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positive comparative superlative
good / well the best
bad / badly worse the ________
much / many more the most
little less the ______
far farther / ________ farthest / _________

Other comparative structures

as positive as

(fo emphasise an adjective | adverb)

not as / $O positive as e. g. Safety rules in the previous decade were
are similar / different in some way)
comparative and lcompcroﬂve e. g. Finding a job seems to be more and
(to shqw fho‘r. something Is, gradually more difficult nowadays.
increasing / decreasing)
the comparative .., the comparative e. g. The faster the machine cycle, the faster
(tfo show successive comparison) your computer processes data.
by far the superlative e. 9. This is by far the greenest area in our

city.




10. Complete the sentences using the correct form of the adjectives/adverbs in brackets.
Add any other words necessary.

Microsoft Windows was released (early) the Linux OS.

Linux is one of (much) used operating systems in the world.

Microsoft Windows is regarded to be as (reliable) Linux.

When choosing a computer, speed is definitely one (important)
features.

The main aim of developers is to ensure that the user gets
(good) out of the possibilities of each operating system.

When an operating system does not need an antivirus software programme, it
is as a result (economical).

Windows commands a (high) number of desktop users, and
therefore it offers a (arge) selection of commercial software.

Some people think that when an operating system is used by
(few) users, it is (secure).

Gamers usually choose operating systems which do not run well on
(old) hardware.

(high) the protection it offers, (expensive) a
secure operating system can be.

The Mac vs PC debate is one of the more / the most controversial topics when
it comes to computers.

Users, who are interested in buying a new computer, always have a dilemma
about which brand is better / the best.

Undoubtedly, the operating system he chose is by far the safest / safer one.

While newer versions of this operating system have made significant improvements
in security, they are still not as secure as / than others.

Farther / further measures need to be taken for a safer / safest internet.
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12. Compare the operating systems shown below, using the words in the table.

secure vulnerable

highly customisable limited customisation

TR

' pair work '

By ubuntu®

>
<0

pricey free

easy to use

| | |
| | |
‘ fast ‘ slow ‘
| | |
‘ ‘ complicated ‘

Windovx; Vistar

'-\

Ny

J # - Windows'8
Windows 7 ‘ &



13. Listen to the dialogue between a man and a woman talking
about computer problems, and answer the following questions: l

http://www.oxfordonlineenglish.com/computer-problems

SUPPORT

CoR V&
() e

What exactly is the problem with the woman’s computer?

2. Does she use the antivirus programme regularly?

3. What did she find annoying?

4, What does the technician intend to do about the problem?

5. How much will it cost to fix the problem?

6. What do you think the expression “that’s a good racket” means?
Does it have a positive or a negative meaning?

7. How long will the technician take to fix the computer?
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14. Listen to the dialogue again and complete the missing words in the following sentences

What exactly is with it?

Do you have antivirus and programmes installed?

Warnings kept when | was surfing the Internet,

If your computer's been with something, we can try to get rid of it.

Others are more difficult - we might have to your hard drive.

M 5200 if we have to reformat and your operating system.

/Al \Would you like to it ?

No, no, | need it fixed. When can | ?

8




S

15. A local organisation is willing to donate money to your school
so that you can purchase new computers and upgrade the IT
laboratory. Your school’s principal has asked for your opinion on
the issue. Form groups and discuss about the characteristics of
each operating system in terms of reliability, security, ease of
use etc commending on their advantages and disadvantages.

OPERATING SYSTEMS

Mac 05 X

N\
[( Microsoft Windows

w,
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16. Imagine that you are employed by a medium-sized business and the business manager
has asked you to write a report (140-180 words) about the Operating System in use.
lllustrate the major advantages and disadvantages and recommend a different one, if

you like.

TECH-NEWS PROJECT REPORT




17. a. Why do operating systems have to progress and develop constantly?
b. What are the consequences of this progress?

class

0
E discussion
” > = 9( o
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